wrd allarrggrar | Model question paper — 2019-20
BusiFlens Frewe T gyeny 1 X1l STANDARD
srsurailwer [ Botany
il whpie G f English & Tamil Version

srevio seray - 15 gl diser * 2.30 wsndl Gurgs wdiEusnss | 70
Time Allowed | 15 minutes + 2.30 hrs Maximum Marks . 70
sfaemy - 1. syemewhs  allarrdsgyo sflwral  uflars e dTamET

sTeTLgEnen  aTUTT dg Gerararajie. UL alls
mmpafmplfen Semmd samarafiurerfl b 8 1 eTiguIrSd
AP EE LTI
2. far (seds0g) smuy s wiemest ol (FEw  sTppgisug Dl
sy ABETpRaspel  UwFUESS SauawFub, UL RS6
aienTags D GQusndld) uwarubiase i,
Instructions - 1. Chack the question paper for faimess of printing. If here is any
lack of faimess, inform the Hall supervisor immediately.
2. Use Blue {or) Black ink to write and underline and pencil to
draw diagrams,
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Maote Q- 1. Answer all the questions
2 Choose the most suitable answer from the given four
alternatives and write the option code with the corrasponding
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Identify the incorrect pair
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Sporopolienin = Exine of polien grain

Tapetum - Mutritive tissue for developing microspores
Mucellus - Mutritive tissue for developing embryo
Obturator - Directs the poilen tube into micropyle
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‘In a test cross involving F, dihybrid files, more parents type offspring were
produced thant the recombination typa offspring. This indicates

a) The two genes are located on two different chromosomes

b) Chromaosomes failed to separate during meiosis

¢) The two genas are linked and prasent on the same chromosome
d) Both of the characters are controlled by more than one gene.
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Which of the following is atavism character of Hieracium pilosels?
a) Sexual reproduction b) wegetative reproduction
¢) Asexual reproduction d} formation of budding.
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Match List | with List Il and choose the correct answer.

List | List 0
A, | A pair of chromosomes extra with i} | Monosomy
diploid
ii) | One chromosome extra to the i) Tmrasum-r-
diploid
iv) | One chromosome loses from i) | Trisomy
diploid
iv) | Two individual chromozomes losa W) | Double manosamy
from diploid




a) A-i, B-iii, C-ii, D-iv
b} Adii, Bdiii, C-iv, D4
) Adii, Bdii, C-, D-iv
d) A-iii, B-ii, C-i, D-iv
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Restriction enzymes are

a) Not always required in genetic engineering
b} Essential tools in geneatic engineering

c) Nucleases that cleave DNA at spacific sites,
d) both b and c.

6. Elps srauydslsr pHenm wyw HErr3urGerd sramarlsms 12 HFld Fro e
Gor@esrEsrd mL Ol FE3rrBerSsrosaian aawmiltams,

) 10 =) 11 & 12 )13

In paddy haploid chromosome number is 12. If double monosomy happens, the
chromosome number will be

a) 10 b) 11 c) 12 d) 13
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Totipotency refers to

a) capacity to generate genetically identical plants

b) capacity to generate a8 whole plant from any plant cell/ explant
c) capacity to generate hybrid protoplast

d) recavery of healthy plants from diseased plants.
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Arrange the correct sequence of ecological hierarchy starting from lower to higher lavel,
a) Individual organisms=> population-* landscape—* ecosyslem

by Landscape<* Ecosystem—* Biome—» Biosphere

c) community=» ecosystem-»landscape=» biome

d) population—arganisms—» Biome->Landscape
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It halps to conversation of plant biodiversity
a)PTC b) synthetic seeds ¢} social forestry d) PHB
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Which of the following is nol a sedimantary cycle 7

&) Nitrogen cycle b} Phosphorous cycle &) sulphur cycle

d) calcium cycle
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With respect o Eichhormia. Which of the following is comrect?
Statement A It drains off oxygen from water and is seen growing in standing water.
Statement B: It is an indigenous species of our country.

a) Statement A is correct and statement B is Wrong.

b) Both the statement A and B are correct.

c) Statement A is wrong and statement B is comect.

d) Both the statement A and B are wrong,
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Pick out the odd pair

a) Mass sefection -
b} Pureline selection -
¢) Clonal selection -
d} Natural selection -
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Morphaological characters
Repeated Self pollination
Sexually propogated
Involves nature
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Tectona grandis is coming under family
a) Lamiaceasa b) Fabaceae
c) Dipterocarpacease d) Ebenaceas
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Which one of the following is reservoir of nutrients?
a) Catabaolism b)Leaching

¢} Mineralism d) Humification
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Who coined the term mutation breading?

a) Muller and Boraug

b} Hugo de vries and Mormen

c) Mullar and stadler

d} 5. Gaud and stadler
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Answer any six from the following question. Question No. 24 is compulsory.

16, wdlihs warhsienuuiled sy Bdmsallsn & U TSmar daipsis,
Mention the names of the matured pollen grain wall layers,



17, Bhmsocny srdrpra stanen?
What is back cross?

18. fygsirar L gD o drer mousSshn aemssow i OB
Mention the type of crossing aver in the diagram given below.
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What are the materials used to grow microorganisms ke spiruling?
20. smaymy ubH ) B oyl s srsiven? Buegiih symen wiren g7
What do you mean Embryoids? Wiite its application,
21, sefllsgar alang pensrhsd orarprsd srerem?
Whal is vivipary?
22, Flrgmmel s1emrEl aramen T
What is aggregation?
23, CCS arairuigy ersirar?
What is CCS?

24. BuiraErETil = remrwm.

Define Bonsai,
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Answer any six from the following guestions,
Quastion No. 33 is compulsory
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“Pollination in Gymnosperms is different from Angiosperms” = Give reasons.
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Differentiate: Epistatic and Hypostalic genes
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List out the needs of capping.

28, Bt uyngal uflsn pevenie, £MUOSMET RIS,
Write the advantages and disadvantages of Bt colton.
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Fram which plant sources are, secondary metabalites derived? Mention their
LUSES,

30, aflens st sTaTHTE oTETET? DyRDINET LW S ameT SIS 5.
What is seed ball? Write its uses.
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White brief note on reed-swamp stage and give 50me examples.

42, e uflf medmsrand iy uHal Hal okl ss.
Give short note on biomonitoring.
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What is terrarian?
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Answer all questions
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a) With a suitable diagram explain the structure of ovule.
Or

b} List out any five morphological adaptations of Halophytes.
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(&) Bring out the inheritance of chloroplast gene with an example.
Or
(b} Generally human activities are against to the ecosystem, where as you a

student how will you help o protect ecosystem?
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(a) Write the types of ploidy.
Or

(b) Write about agro chemical and their effects.
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() Write the advantages and disadvantages of genetically modified foods.
Or
(b) Dascribe the modem methods of seed protection.
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a) Write the applications of plant tissue culture.
Or

b) How will you prepare an organic pesticide for your home garden with the
vegetables available from your kitchen?
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